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Paper : GECCOM2 (A)

( Basics of Income Tax )

1. (@) o9 AEN ORW@N <[ I : 1x4=4
Fill in the blanks of the following :
(i) SITSS AT AT IR L)
o6 91 C2fe |

Income tax was first introduced in
India in the year

(i) @& SR FHORE AS I @RI
EL| |
Gratuity received by a government
employee is
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(iii) T-TREIREE ToIfET CvIS I ¥R IR
0 fEpiet @Rl = |
In case of self-occupied house

property, the annual value of two
houses is taken as

(iv) TG FER Ty WER [ T
@R A AT Qe = |
Capital gain arising from the

transfer of a long-term capital
asset is called

(b) TS TSt T @ e B 1x4=4

Write ‘True’ or False’ of the following :

(i) SRS @A o[l S T A I
@2 =

Dividend from Indian .company is
exempt from tax.

(i) ZTTVA TN GO @9 ZH0IT JAA
airey Reiiterz e =ik

Short-term capital loss can be set
off only against short-term capital
gain.
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(i) € 80C @em TE =E Tm TEsE /
AR eTex s
Section 80C applies omly to
individual and Hindun uwndivided
family.

(iv) I8 =i FmR R D TN SN
4% TE" =N =
Health and Education Cess is
levied ai 49% on tax on total
Ainumx.

2. (a) TEbRE EFE =R T TR oeE? o
o7 =TT Fe Fae N TR NN,
o Ram == & 2+12=14
What do you mean by the term
‘Tesidential status? Explain how you
would determine the residenfial status
of an individual.

=}/ Or
(b) e PR <oqT b G =9 ¢ 3%x4=14
~ Write short notes on the following :
(i) 3}% / Person
(ii) ¥¥%> V¥ / Gross Total Income
(iii) TE0ES 3% | Assessment Year
{iv) %« / Pension
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3. (@) T2 x R@swe 25,000 53 T ARG FH©
IR : ,
Mr. X is employed at Dibrugarh at a

basic salary ¥ 25,000 p.m. and he is
also getting the following allowances :

S 0))
(per month)
(efs TR)
IR I 2,000
Dearness Allowance
AW AR 0 1,000
Lunch Allowance
MISEEUIRIn) 2,000
Transport Allowance
Frpl 7 (REHG! &'91-@RER W)
(ofStot Pres II) 300
Education Allowance (for three children)
(per child)
9Bl ' P-@AAR AP QBT I 500
Hostel Allowance to one child
9 ©f%l 0 5,000

House Rent Allowance

(o¢ Ffasre 91 A oS AR 200 HI fE
ey IR | (o€ siel W@ 7,000 5 4fS
Tz ol B wfE uR. Pl @w T (96
NESFSR T (967 72T 10%. 9. .
GF.J @EET 12% J© 9,000 Tl |
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He paid professional tax ¥ 200 p.m. i
He was in a rented house and i
paying a rent of ¥ 7,000 p.m. His
employer’s contribution in RPF @ 10% "
of his salary. Interest on RPF balance e
@ 12% ¥ 9,000. I

‘
2024-25 59 THEN @R TR (957 A |
o/l SorEn e = e == 14 i
Find out his salary income for the
Assessment Year, 2024-25.

o<1 / Or

() WF=ies INe T @ WRa I
IRQ? WG W @ WE W |
FC u/s 243 TR BLE T4 T | T+7=14
How will you determine the annual
value of house property? Briefly explain
the deductions u/s 24 in computing
the taxable income from house

- property.

4. (a) 202324 S¥s ¥ife [ER Rew f S
TR e Al Regermz wRE 9

Mr. S submits the following particulars
about the sale of assets during the

year, 2023-24 :
12T oA en
Jewellery Land Gold
R&ER 70 (1) 5,00,000 18,50,000 3,50,000
Sale Price (%)
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RES S et

Jewellery Land Gold
&R = (59) - 50,000 —
Expenses on Sale (T)
wf¥azay Im () 60,000  2,10,000 1,00,000
Cost of Acquisition (¥)
RIERECE IR 2007-08 2004-05 2009-10
Year of Acquisition
. @iz, =i 129 113 148

CII
2023-24 R AR 5. WE W 348 T
2024-25 W THRA T[T IW FT AME
FRAE JaLA TS AR o T 12

Calculate the amount of capital gain
chargeable to tax for the Assessment
Year, 202425 if CII for 2023-24 is 348.

</ Or

(b) T TOR R TR R HTS I S
RN Rfen qo7 9" I SER 4

Mention the different kinds of income
chargeable to tax under the head
Yncome from other sources’.

5. (q) SRS I, 19613 EIFHIAT (T FRIE WIF
(=5-9T A=E Rz g | 12

Explain the provisions of the Income-
tax Act, 1961 regarding carry forward
and set-off of losses.
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{1/ Or

fis qR (3T 45) 2023-24 51 T IR
TIte Soe (557 uT TiF A oY TS
e R R SeRnRR

Mr. Ramnath (aged 45) furnishes the
following particulars regarding his
income and other information related to
the Previous Year, 2023-24 :

T (o)
RE2R 9 P SR 7,82,000
Gross income from salary
TW-TET R WE (IEe) 52,000
Income from house property

(computed)

FXTT Tl oS u/s 112 60,000
Long-term capital gain u/s 112
RO @HIAN o1t e 35,000
Dividend from foreign company
=R 39T [ ° 28,000
Interest from government bond
FHIRT [ & @ () 40,000

Winning from lottery (gross)
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fiie I e TTFG o TS e
(ULIPJT @ 60,000 53 &/ SHoRGR |

Mr. Ramnath made contribution of
¥ 60,000 towards Unit Linked
Insurance Plan (ULIP)

2024-25 @ TARE I @ Wz AR
TIEIR o SR S P

Compute the Total Income of
Mr. Ramnath for the Assessment
Year, 2024-25.

2030 79 Bl W 20 TENITT o 24
Additional Questions, 20 marks for 2023 Batch

6. (a) TS Y T REPHI THES W FZ,
19613 Rypiz IRt 390 ¢ 5+5=10

Explain the provisions of the Income-
tax Act, 1961 regarding the following :

(i) 9 STl I+T6

House Rent Allowance

(i) Tphosies Sy
Recognized Provident Fund
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<l / Or

(b} g9l 373 FEWS IE&E AW TNte A f
(@I 7257 %35 JPIN I COR[ Fre FEFEENg
TR o | 10

Write any ten expenses that are allowed
for deduction u/s 37 under the head
‘profits and gains of business or

profession’.
7. SO TEd ¥ Iz g 9 5+5=10

Explain the following :
(a) ST TE T [

Tax deducted at source

b) TR TS

Capitzal asset
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Paper : GECCOM2 (B)

( Sales Management )

1. wors R n @ Ry F 1x6=6
Write ‘True’ or ‘False’ of the following :

(@ & ffcs G RE JeE-@R @O =4
ST |

Ensuring growth is a prime objective of
sales management.

(b) & fEmR 23w T o @-9@l’s |

Pre-approach is the first step in the
selling process.

() & e @6t kR B Aol o |

Sales department shapes the overall
performance of an organization.

(d) TERE @ B oF e prRbEE SR
e w=

Knowledge of market is not an essential
content of a good training program.

(e) oD o e e @I AR KF IR
SHTS PO AT |

Promotional pricing policy has no
implications on sales function of an
organization.
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(N R& afrrrs afrpas e o RéR 5=
IR SIS |

Training content in sales training
mainly comprises of the basic sales
technique.

2. &7 MAIERT R @6 R eoRe 53 Gl B
4x2=8

Write short notes on any fwo of the
following :

(@) RER F= oz

Formulation of sales strategies

(b) (& Roeg 5==F '

Sales department relations
() R&E =37 =foome

Compensation of sales personnel “"
|

3. (@) Ifews &R @ fall Reem e
Jfere TER SRR T 40 | 2+8=10

Define personal selling. Explain the ‘\JJ
role of personal selling in marketing '
strategy.

93/ Or
(b) TfesTs [TE wiF RF IR T 7o I
I I | 10 i

\
|
Explain the relationship between |
personal selling and sales management. ,
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(b)

(12 )

& v RifSn ot Re@ S 10| 8

Discuss the various stages of the sales
cycle.

21/ Or

& oRoee esER RE @ity ol
Tro IR @FEE oY IF [RoEd IR
R AMI?

How can sales managers use data and
analytics to improve the performance of
their sales teams?

e SR 57 O SARDE IRYPER
T 4 2+8=10

What is territory management? Explain
the benefits of territory management.

</ Or
o9 @5ad =S 59 Ko @63 70141
¥R Rew wEc 301 2+8=10

What is distribution network relation?
Discuss the importance of distribution
network relation.

& % 57 [ 0 sFed oiiwl A
AT 34 | 2+6=8

What is sales personnel? Discuss the
crucial role of sales personnel.
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5/ Or

(b) R&E T= IR /e ez I 9 8

7. (a)

Explain the recruitment strategies for
sales personnel.

R o TR0 o & 317 RS afreq

P j:ir\si TresEd’ I wEn 90 2+8=10
What do you mean by sales training
program? Discuss the significance of
sales training program.

=< / Or
(b) RE =5 @3 @ERR R @R Raw
ST &1 10
Discuss the various strategies for
motivating the sales team.
03 TT Frmde AT 20 T Ao 4%

Additional Questions, 20 marks for 2023 Batch

8. (g

& At @ o /K& qcwss Rfew
TAMTIR. PR 4 | 2+8=10

Define sales budget. Explain the
various components of sales budget.
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o</ Or

(b) R&ER @i Tt & w7 Ren aee RER

(b)

OPRE YRy 1 2+8=10

What do you mean by sales quotas?
Explain the various types of sales
quotas.

R AP ARe S SPRePEE. S
| 10

Discuss the advantages and dis-
advantages of sales organizations.

%<l / Or
f@re v Rewas e fmn 935 Resmes
ffen OiesRTgz wtEmar 79 | 2+8=10

Define cost analysis in sales. Discuss
the various significances of cost
analysis.
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Paper : GECCOM2 (C)

( Career Planning and Development )

1. (a) =T Tmes Sl @ R e 1x3=3
Write True’ or ‘False’ of the following :
(i) 951 RN ARPEE FECe IS
"E CRME A T I8S A0
ARG T |

To plan one’s career, it is not
necessary to formulate both
personal and professional goals.

(ii) = WP (RR N9z fSese ot
=nE9 |

Covert behaviour is behaviour that
happens inside human beings.

(iii] IR (TR T I |

Networking is a one-time activity.

(b) ©=S < IRER [/A I 1x3=3
Fill in the blanks of the following :
(i) RN eI FRPHY = Ifeorare
T 2R 1

The most logical part of career
development program is
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() e web wkiEe Rerm e
m@ |

indicates the growth of
individual’s psychological system.

(i) T A OOF WRE TG TS @E
qeRIE FA-TSTT AWE &l
T |

A formal conversation between two
or more people is known as

2. oo FERERe 5 Teq fal - 1x2=2

Answer the following in brief :

(@) @REE 9T T 499 G I

Mention two types of career anchors.

(b) el @PreI oI afEm Sy I
Mention two processes of competency
mapping.

3. oo RIS eoive 55 Gl ol - 4x2=8

Write short notes on the following :

(@) PN AT
Company profile

() @R FORR WF TR Gl

Career counseling and its benefits

P25/1467 ' ( Continued )



4. (a)
(b)
5 (a
(b)

(17 )

@R wnW 57 ofEr sivhe ol
AR I 1| 4+7=11

What is career planning? Explain the
basic process of career planning.

What is behavioural skill? How is
behavioural skill helpful for employees’
career planning and growth?

IR WA o o 5 gei? wme =
HPPTR WA F91 | G 752 T5aeTe
L Aol (R ? 3+4+4=11
What do you mean by human
behaviour? Discuss the types of human
behaviour. How are personality traits
affecting the behaviour?

%2 / Or
el @Ped Rfew Gerz o 91 11

Explain the various techniques of
competency mapping.
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6. (@ Rgw 7 Ryer 79 Regwes Raw wiemwa
| 3+8=11

What is resume? Discuss the main
contents of resume.

<l / Or

(b) BIFAT @NAINR FoITS! Ia IRA O 71’7
R/ AMUFPTHR IR 11

Explain the several steps you can take
to improve the effectiveness of your job
contact.

7. (a) CRIF R A “meweR 9 ke sa1 11

Elaborate the five steps of career
development model.

52t / Or
(b) ¥ HiF FORET IR TR TS T
o5 TS GG F9 |

Explain five approaches of relationship
between work and employee mental
well-being.

2030 31 Fredfin IW 20 TR Afefte 2
Additional Questions, 20 marks for 2023 Batch
8. (a) IR HARoEmR ARe =T  PRYPER

IR T 10

Explain the advantages and limitations
of career management.
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Y=<t / Or

(b) WIS [T Te R RfSm Tom g

9. (a)

(b)

P25/1467

41

Explain the various ways for improving
the behavioural traits.

SRR T &9
What are the various sources for

conducting research about the
company?

< / Or

FAPY IR PRI IF T R e
frr tzm?

What are the suggestions for effective
career counseling?

10
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Paper : GECCOM2 (D)

( Risk Management )

wore fRIEEst T @ R forr 1x3=3
Write ‘True’ or ‘False’ of the following :

(i) Rem REea fems W e oS
oo «27 |

Risk management does not involve
with the assessing of risk.

(i) “wRea A= ﬁwwcf’—d fRoma el
TS TR A |

Identifying loss exposures’ help in
understanding potential risks.

(iii)@%mmmm@a@wm

qarey [ |

Marine insurance is exclusively for
passenger ships.

(b) T A SRR T T 1x3=3

P25/1467

Fill in the blanks of the following :

(i) R I G 9B AFfS IS I R
|

Reinsurance is a process
which reduces the risk of the
original
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~

(ii) =% o IR sTaes <51 g
AT |

risk is a crucial step in the
risk management process.

(iii) IRDA SNZa% TE-TET FM©
Gio® 2 AT |

The IRDA Act, deals with
related activities.

2. oo RIERR & @ foRm eows 5 O ferat

4x3=12
Write short notes on any three of the
following :
(a) <T&= et

Market risk
(b) IETET I
Commercial insurance
(c) =3 mopd
Loss exposures

(d) Rem Rems dweame |

Importance of risk financing

(e) TR#= Rbeme

Risk retention
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3. (q) Reme owe f oy fAfsm  SOPTR
g ¥ 3+8=11
Define risk. Explain the various sources
of risk.
g4l / Or

(b) Rewm ERem R Rem TR sf PR
AGITIRC I 3+8=11

What is risk management? Discuss the
process of risk management.

4. (@ | WA FA 5 @7 -/ WEHR
REpTR R 9 3+8=11
What do you mean by non-insurance

transfer? Explain the features of non-
insurance transfer.

wg<l / Or
(b) @FER “H_TN 59 Rom IS IO
sfarige e S I 3+8=11

What are paying losses? Explain the
significance of paying losses in risk
management.

5. (¢) e Reom IR 52 Ffeers Rema Rfew
SRPPTZ. ST T | 2+8=10

What is personal risk management?
Discuss the different types of personal
risk.
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Y34/ Or
(b) Jfere Rem Baresm ffes iR
RG] | 10

Explain the various features of identi-
fication of personal risk exposures.

6. (a) @ g 592 F IR ST T (Fhen
e orere fRm s = 3+7=10

What is credit risk? Discuss the impact
of credit risk on the banking system.

&</ Or

(b) ©RE Rom 6?7 @ oRey Rom FrgeR e
A A (R R WA F9 T 3+7=10

What is liquidity risk? Discuss the
strategies adopted by bank for
controlling liquidity risk.

Roxe T TR AR 20 TR SR oy
Additional Questions, 20 marks for 2023 Batch
7. (a) Rem= TEEPZ GRI 3 10

Explain the features of risk.
</ Or

(b) Rem e I SRESrER SCE
<

Discuss the limitations of risk
management system.
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8. (@ f% RGww= geifc T IR @
A 4 | 10

Discuss the factors influencing risk
retention.

%<t / Or

() @it W P T @ @Ebe |-
AqRzoPHR Sy T4 | 3+7=10

What do you mean by captive
insurance? Explain the limitations of
captive insurance.

* % K
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